
नाम: 　　　　　　　 िदनांक: 　　　　　　  ोर: 　　　

10 . के ऋणा क घातांक

226.4 × 10 =(−2) 307.3 × 10 =(−2)

779.7 × 10 =(−3) 10 =(−4)

130 ÷ 10 =2 10 =(−1)

463.6 × 10 =(−2) 10 =(−3)

422 × 10 =(−3) 10 =(−2)

2 × 10 =0 10 =(−1)

195.9 × 10 =2 7 × 10 =(−2)

−2 × 10 =0 850.9 × 10 =(−3)

537.2 × 10 =(−1) 345.7 ÷ 10 =2

10 =(−3) 10 =(−2)
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नाम: 　　　　　　　 िदनांक: 　　　　　　  ोर: 　　　

10 . के ऋणा क घातांक

226.4 × 10 = 2.264(−2) 307.3 × 10 = 3.073(−2)

779.7 × 10 = 0.7797(−3) 10 = 0.0001(−4)

130 ÷ 10 = 1.32 10 = 0.1(−1)

463.6 × 10 = 4.636(−2) 10 = 0.001(−3)

422 × 10 = 0.422(−3) 10 = 0.01(−2)

2 × 10 = 20 10 = 0.1(−1)

195.9 × 10 = 195902 7 × 10 = 0.07(−2)

−2 × 10 = −20 850.9 × 10 = 0.8509(−3)

537.2 × 10 = 53.72(−1) 345.7 ÷ 10 = 3.4572

10 = 0.001(−3) 10 = 0.01(−2)
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